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QUESTION 1

What is a Scrum-of-Scrums?

A. A meeting for management to get insight into the working of teams.
B. A meeting for Scrum Masters of international Scrum teams.

C. A meeting to coordinate the work of multiple Scrum teams.

D. A meeting to show the customer an update of the product.

Correct Answer: C

QUESTION 2

An engineering organization is transforming their project management method to use Agile Scrum. What is the best
approach to the transformation?

A. Get a senior executive to champion the transformation.
B. Get the team managers to monitor their team\\'s progress on a daily basis.
C. Make a swift transition and start using Scrum for all projects.

Correct Answer: A

QUESTION 3

How should \\'done\\' be defined when multiple teams are working on a single product?
A. All teams must have the same definition of \\'done\\".

B. Each team must define and use their own definition of \\'done\\'.

C. The Scrum Master defines when the item is \\'done\\'.

Correct Answer: A

QUESTION 4

A team selects a Product Backlog Item (PBI) for the Sprint Backlog. What must a team do to finish the Product Backlog
Item it selects?

A. As much as can be done in the Sprint before the deadline.
B. As much as is required to satisfy the definition of \\'done\\'.

C. Analyze, design, program, test and document the PBI.
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Correct Answer: B

QUESTION 5

Which Scrum ritual is meant to look back and improve upon the finished Sprint?
A. Daily Scrum.

B. Sprint Retrospective.

C. Sprint Review.

Correct Answer: B

QUESTION 6

A team estimates a Story using the Planning Poker technique. The team decides to allocate five Story points to the
Story, because the Developers estimated two points and the Testers estimated three points.

Which statement is true regarding this scenario?

A. Points are assigned by the Scrum Master, not by the team.

B. Points are assigned for the overall Story, not for parts of the Story.
C. Points are never estimated, but always determined beforehand.
D. The team forgets to ask the Product Owner about the estimate.

Correct Answer: B

QUESTION 7

A team decided to install a large traffic light in the team hall to indicate whether the latest build was healthy (green),
failing a few tests (orange) or failing high priority tests (red).

What term can be used to describe the traffic light?
A. Information radiator

B. Osmotic communication

C. Triangulation

Correct Answer: A

QUESTION 8

A team has eleven members spread over two locations across two time zones. One of the locations has six team
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members and the other team has five.

Where should a Scrum Master be located?

A. Alternate the Scrum Master between both locations.
B. Appoint a local Scrum Master for both teams.

C. The Scrum Master is located in one of the teams.

Correct Answer: B

QUESTION 9
When is a Sprint complete?

A. When all of the Product Backlog items are completed.

B. When all the tasks in the Sprint Backlog are completed.

C. When the Sprint defined time box ends.

Correct Answer: C

QUESTION 10

2024 Latest certbus EX0-008 PDF and VCE dumps Download

A user story was estimated at five ideal hours. On a normal eight hour working day, the team gets about four hours of

actual work time.

What would be the elapsed time required to complete the Story?

A. One day and two hours
B. Two days
C. Five hours

Correct Answer: A
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